Accelerated Math Grade 8

Digits Tomc 6: Systems Test Review

Rewriting Equations in Slope-Intercept Form: Rewrite the following equations in SIOQ

intercept form (y = mx + b). By inspecting the equations, determine what type of line(s) the
system forms and how many solutions each system has.
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line(s) the system forms and how many solutions each system has. If the system has one

solution, name the solution.
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Graphing: Solve each system by graphing. Show all your work. Then determine w.hat-'tj'fbe of
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Substitution Method: Solve each system using Substitution. Show all your work. Then

determine what type of line(s) the system forms and how many solutions each system has. If the
system has one solution, name the solution.
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Elimination Method (Addlth/ﬁllbtractlon) Solve each system
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using Ellmmatlon Show all

your work. Then determine what type of line(s) the system forms and how many solutions each

system has. If the system has one solution, name the solution.
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Elimination Method (Multiplication): Solve each system using Elimination. Show all your work.
Then determine what type of line(s) the system forms and how many solutions each system has. If
-the system has one solution, name the solution. — — =
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Determine the best method to solve each system of equations. I)o not Sbl"e-
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